S→B→K

S = STARTSIGNAL Vad hände? ______________________________________________________________________________________________________________________________________________________
B = BETEENDE Vad gjorde du?
______________________________________________________________________________________________________________________________________________________
K = KONSEKVENSER Vad hände efteråt?
______________________________________________________________________________________________________________________________________________________
